o=

ISR



¥—E EbMRRESRIE

BE20F  FENIBERLAL—F  BTIRZENLEEERE - HREEAB(WHO)B T B EIER 7
BIARC)fEET » BLMRFLZEDHNRBERNEFTEN  SEZRNIAEFORATRRZEN

REREX2,330L 2 MEFMREERLEEE - 2%

=
A==

EREIEEENHE - ELEHBERBERM T BILE

SBEFANLDEESEORN - UAREEEmE-RANESR -

FESER
. SEER

¢ HBiB85% M EBERBERGKEE BIIE
e Z2IMEHRFNIESRLRES !

> 70.8%BEHR=ES)

> 53.5%LBE K GERFH L

> 34.4%BEBERICH

. ELEHRELR
* 15.9%MEEEEHHBERRE
* 25 9% EHi B EERARRE
e 1M 2% EHHIEXETRE
* 0. 2% EHHIEBE FRE

* 3%MBEERIE  WRANESERARE

s EFEMETIEHEBENFRNABEZERER




